2020 WY —EMERENFES YV TILARE AEELE 128128 (1)
No F— 1% =4 EE a—F ZF R :
Fmuss | (O )BNEE | ( VBUES 25 35 4F|2F 35 45

I|fBL=>2=7 |=t =& e EA B AR 1 1 2 1|5
by 2 =7 =is MEF |k T 1 1 113
Bl nvey |&E EYUF fi% R fpE ®HT (3 1 3 1 3|11
4B 2 =7 T m-i g Ik EE XT ERT 1 1 3(1 6
5|51 =7 wWE 0vEH EH FRE B NEF (BB EHRAA 2 2 112 3 10
6|y YY1z T | ETF B RkE B =7 1 1
Nehya=7 ME T2 B FH 1 1
8|IREF v X B B MRF FAR EE AH BF 2 1 3
N FY 2 =7 B HFH =Y | WE RF 512 412 6 4123
10|19 ¥ > 72 |EA B E F— g #e3E 1 3 1 11(6
11{SUNS2004 HN A SV 1
2(Eaya=7 ER EHE 2l R XEE BhTF 1 2 412 1 1|11
131 v b 7 —XRN|ERE &1L Tl BE EAR F17T 1 1 113
Y&y a=7T BN =4 B e 1(1 2
152y 2 =7 MHE & =R =% AN= N1 =zE ] 111 2
16|7=7 LMAXJr.  |iEn X B B Al BX 1 1(1 1|4
17|E&EY2=7 AR Bl AR AEF (KB Bt BE RER 1 2|3
18|fmY =7 ALF  KEB Bk mE Him A 17111 1 4
I[FREY2=7 |BEF B EF ®Epk) |EB BER 1 1 2
00EY 127 s Zes T =B EBE Al 1 2 1 4
21[NOCKS AT BEE BH BT AT E— 1 1|1 3
22[NF<4 =K = ARE M= |EE w2 4 1 2 7
23IN\EFF v X B AR TE FE TE EBEF 2 113
0NEF2 27T [EM #BF aH i B ER 2 2 2|6
BERFRY 22T IR B BB FH 4 EBE 22 2 6
26|BTHY 2 =7 BR R"E =)l K& B B 2 3 113 1 4114
27|LAZWARD I CES i X I N 1
Ay 74=T4—|EX & A BHBEE 1 112
V|ELFY2=T7 (LB ERTF
V|ELF>2=T [8BA KT

&t 27 27 25[22 23 36|19 24 23| ##




2020 W) —EMEFENFES VT AKRE AEBEELE 128138 (R)
No F— 1% | BE IO—F ZF B7 o
FHRIBYTN ( )BYFEE | ( )BYFE |5& 6% |55 65

IBEE Y b |HER #N H5E R i BT il 1 1] 3
ABIEY 27 M2 @7 W BT VIEE A5 2 2 4
3ty a=7 EBE T =i WmET | x 2 2 4
Al A RP vy [ KE &¥¢h A% B WE #BHEF 1 3 3 7
S|fEH Y 2 =7 AE BER TR EE =L HE 3 3
6|#RIEL 2 =7 RE BT (RE BBy |=28 FH= 3 3
NEBY21=7 BH =T Pl BEF (N EBEE B BHA 3 2 40 9
8|HvvyYazT |BER HT KE A8 KB BE 11 2
9B Ly a=7 ®mHF FZ (f&# B 11 1
10|8REE*F v X Af wYz B YT w3 1 1 2| 4
NEYEY2=7 O B— WH FF M {E17 1l 3 4| s
12|/NFP 27 U IN EBE IE3x wmE BT 5 4 4 4] 17
BB roqs v IR|FE #F FE F— a a3k 2 2 11 5
14{SUNS2004 WEE Kb FHi MA WEE IR 3 4 7
1518227 FE Hid Zi R IXBE BATF 6 5 3 1] 15
16|+ b5 —XB)|E)I FEz T BE el Nt o 2 1 2 2 7
17| BwAtaNER |dE H A CE I V) FIR A 11 2
18|@IP =7 = N F& MR FERK 11 1l 3
9ty =7 BE AR T FHI # Bk B 1 11 2
20{7=% LMAXJr.  |RE E%= EBE B EAR AR 2 1] 3 2| 8
Q1|[EF> 2 =7 Brx & REF B PR BEH 3 2 2l 7
2(AHY =T BH 1&T =TITI VN =, Bk KT 1 4 1 2| 8
23| FHRAY2=T7 KR HYS FF ER +H B 2 11 3
24[BB> v LR kB EBERE BiE H AE R 11 1 3
B|EY 2 =7 fHE =7 BB 1E& He =EBF 2 20 31 7
6lEET RV KB BT AR BT FH =T 321 1 4| 10
27|NOCKS 8 B BH BT (FE%F  {ZBR) 1 1
28[/F w4 =K = ARE = |BE E 3l 2 5
29N\EFFv R AT RE tE &% BE — 1 3] 4
NEFV227 K BHCH aH B WG ER 5 4 1] 10
BUEAREKY 2 =27 |[aKR B e8 BE N A 321 2 2| 9
R(EAY 2 =7 BR wiE EZF N P 68 2 5 1| 8
BREMILY 2 =T |KI5 2 25 FE BE BT 3l 3
34[YBSY 2 =7 SH BEK RAK |k e 2 1] 3 6

A&t 34 31 32| 53 50| 45 50[198




